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Test Test Test circuit and Basic test levels | Enhanced test lE‘I.'E'.IS Number of|  Primarv Accentance
No descrintion waveshape {Also see {Also see clamses 5 | © tests ru:-re::ﬁu."-n . EI'iFE'l‘iﬂ Comments
' P (See Aunex AVK.44) | clause 7E.A44) and 7/E.A4) P
51.1a |Lightning, |[A3-5andA64-1 Uiy = 2.5kV | Uiy = 6.0KV Sofeach |None A This test does not apply when the
mherent, combination wave E=00 E=00 polarity equipment is designed to be always used
transverse with primary protection and the operator
511b |Lightming, [A3-5andA64-2 Uy = 25kV | Upgany = 60KV Sofeach |None A agTees.
mherent, port | combination wave E=00 E=00 polarity
to earth
511c |Lighming, [A3-5andA64-3 Ubpey =23 kV | Ubimey = 6.0V Sofeach |None A
mherent, port | combination wave E=00 E=00 polarity
to external
port
512a |Lighming, [A3-5andA64-1 Uty = 6.0EV | Umay = 10.0EV Sofeach |Agread A
inherent/ combination wave E=00 E=00 polarity primary
coordination, protector
fransverse (mains).
(Mote 2)
5120 |Lightming, |AJ3-5and A64-2 Uy = 6.0EV | Uy = 100KV Sofeach |[Agreed A
inherent/ combination wave E=00 E=00 polarity primary
coordination, protector
port to earth ({mains).
(Mote 2)
512¢ |Lightming, |A3-5forand A64-3 Uy =60kV | Uiy =100kV Sofeach |Agread A
inherent/ combination wave E=00 E=00 polarity primary
coordination, protector
port to ({mains).
external port (Mote 2}






